EE 204-02 – Fall 2008
Quiz 6
	Section
	SER
	ID
	NAME  KEY



[image: image1.emf]3  

2 H

1

 F

6

o

10cos(3t +30)   A


For the circuit shown above determine the followings: 
(a)  Average and reactive power deliver by the source ?
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(b)  Power factor of the  source ?  leading or lagging ?
Solution 
Phasor domain
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EE 204-03 – Fall 2008
Quiz 6
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For the circuit shown above determine the followings: 
(a)  Average and reactive power deliver by the source ?
(b)  Power factor of the  source ?  leading or lagging ?
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Solution
Phasor domain   
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